Level 5 Exemplars

Paper 1B

SECTION B (40 marks)

1. (a) Many people are using credit cards to purchase goods and services. Explain two benefits for
customers of using credit card. ond (4 marks)
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(b) Explain one reason why credit card companies are more willing to issue credit cards to applicants
with good personal credit records. (2 marks)
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2. Ken owns a fast-food chain business with more than 50 outlets in Hong Kong. He is going to expand his
business by offering delivery services all over Hong Kong. Wendy, a business consultant, recommends Ken
to establish a telephone hotline centre in the Mainland to take orders from customers in Hong Kong and direct

the Hong Kong outlets to deliver the meals.

Explain three types of external factors that would affect Ken’s decision on whether to set up a telephone
hotline centre in the Mainland. (6 marks)
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3. For each of the independent situations described below, state the accounting principle or concept that has
been violated and give a brief explanation.

(a) The owner of a firm, Mr Chan, bought a pearl necklace worth $85 000 for his wife with a firm’s

cheque. The bookkeeper recorded the transaction as follows: (3 marks)
Dr. Cr
_ $ b
Sundry expenses 85 000
Bank 85000
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(b) The owner of a firm, Miss Lee, bought a notebook computer of $12 000 for office use. She heard
from the dealer that its market value at that time was $14 000. The bookkeeper recorded the

transaction as follows: (3 marks)
Dr. Cr.
$ $
Office equipment 14 000
Bank 12 000
Gain on purchase of office equipment 2 000
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4. Information management can support the human resources department of a company in different ways. List
three of them. exrterhq"y (3 marks)
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5. David is a sole proprietor who keeps records of his cash and bank transactions in a three-column cash book.
The balances in the cash book as at ] January 2013 were: cash $12 680 and bank overdraft $30 980. In
addition, a petty cash imprest amount of $2000 was maintained on that date. Transactions made in
January 2013 were as follows:

2013
Jan 2 Received a cheque from a customer, Lung, who was given a cash discount of 2%% to settle his
account of $150 000. The cheque was banked on the same day.
5 Paid a 20% deposit by cheque for the purchase of a motor van costing $200 000. The balance
was to be paid on delivery two weeks later.
7 Received a cheque of $190 000 from Hilly Company as commission for work done.
14 Cash amounting to $8790 from sales were deposited into the bank directly.
17  David withdrew $3200 from the cash box to pay his son’s school fees.
19 Paid the balance of the motor van purchased on 5 January by cheque.
24  Settled Kam Kee’'s account of $35 000 by cheque, with a cash discount of 3%.
28  Withdrew $9000 from the bank and put the money in the cash box for business use.
30 Paid wages'of $10 000 in cash and $20 000 by cheque.
31 Petty cash had a balance of $205. The petty cash imprest amount was replenished with cash.
Write up a three-column ¢ash book for January 2013. (8 marks)
Cagh Baok
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6. Explain three ways in which division of work could enhance the efficiency of a manufacturing company.

fl Yﬂt ' ‘ ‘ - ‘ - (6 marks)
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In the sales department of a firm, the manager and the sales representatives discussed and agreed on the sales
target for a quarter. Throughout the quarter, the manager met the sales representatives regularly to discuss
problems encountered and gave appropriate support. At the end of the quarter, the manager reviewed the
performance of the sales representatives and gave them rewards and feedback.

(a) Name the principle of effective management applied in the above sales department. (1 mark)
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(b) From the sales department’s point of view, explain two advantages of applying the principle of
effective management named in (a). (4 marks)
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END OF PAPER




Comments

The candidate demonstrated comprehensive knowledge and understanding of business concepts as
well as accounting/management functions and processes. He/She was able to apply business
knowledge to unfamiliar case situations to tackle business problems. The theories and principles
of business, accounting and finance were critically evaluated from different perspectives. The
candidate communicated ideas, including opinions and suggestions, in a logical and coherent
manner with appropriate business terminology.

In Question 1, the benefits for customers of using credit card were well elaborated and the
likelihood of collecting money from applicants with a good credit record was explained. In
Question 2, three appropriate types of external factors were considered in-depth. In Question 3,
the accounting principle/concept violated in each case was accurately identified and appropriate
explanations were given. In Question 5, all transactions were correctly recorded in the Cash
Book, which was well presented. These showed that the candidate had a good mastery of basic
accounting knowledge. In Question 4, the use of information management in collecting
information about the labour market and workers’ performance were mentioned. In Question 6,
enhancement of efficiency through utilising specialised skills of workers was mentioned. In
Question 7, MBO was identified and the advantages of applying MBO in the case were well
explained and logically presented.

The answers provided by the candidate were comprehensive and logical with very good analysis
and evaluation of different business scenarios. This piece of work is of Level 5 in the HKDSE
reporting scale.
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b _Statement 00 Financial P‘S&‘;ﬁ'@%kos ot 31 December 2012
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Comments

The candidate demonstrated comprehensive knowledge and understanding of the accounting
concepts covered by the syllabus. The candidate demonstrated a good ability to apply accounting
knowledge in unfamiliar situations and was able to communicate ideas effectively in a logical and
coherent manner with appropriate use of accounting terminology.

In the practical questions, the candidate was able to apply his/her knowledge towards solving many
problems in unfamiliar situations. In Question 4, the candidate made the necessary entries in the
capital and current accounts. The statement of financial position was properly drawn up. In
Question 7, the candidate worked out many of the ratios as required by the question. Costing
Questions 3 and 6, which demanded synthesis and evaluation skills, were well answered.

In answering the theoretical questions, the candidate was able to communicate factual information
effectively. In Question 3, the candidate pointed out that the same accounting policy should be
applied in like terms across years. In Question 7, good comments were made on the profitability
of the Company.

In summary, the answers provided by the candidate were comprehensive and logical with very
good analysis and evaluation of various accounting topics. This piece of work is of Level 5 in the
HKDSE reporting scale.
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Comments

With few exceptions, the candidate demonstrated comprehensive knowledge and understanding of
business management concepts. The candidate was able to apply those concepts to analysing
management problems in different settings. For example, the candidate clearly knew the uses of
performance appraisal in Question 1. In Question 2, factors in granting credit to customers were
described with a correct application of the relevant technical terms. In Question 3, the candidate
clearly understood the relative benefits of keeping existing customers over finding new customers.
In Question 4, the candidate was able to identify different disciplinary actions in a progressive
manner. The response to Question 5 is the exception in this candidate’s answers, as he/she failed
to respond directly to the question. However, the candidate correctly identified geographical
departmentalisation as a type of divisional departmentalisation. In Question 6, the candidate
discussed the importance of contract clearly. In Question 7, the candidate was able to apply
various concepts in risk and marketing management to the case. In Question 8, the candidate
correctly identified the key elements of Theory X, characteristics of service, the payback and NPV
methods, and was able to apply these concepts specifically to the case. In Question 10, the
candidate was able to identify some major characteristics of the market in its growth stage, as well
as the advantages of internal promotion. This piece of work is of Level 5 in the HKDSE
reporting scale.
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